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Under standard M/M/1 assumptions, it can be shown that the following queuing
performance equations apply (assuming that p = % is less than 1):

0=+
I-p
_ A
w=
(= 2)
— 1
[=——
u—-Ai
where
= average length of queue in vehicles,

=119l
|

average waiting time in the queue, in unit time per vehicle,

= average time spent in the system (w + 1/4), in unit time per vehicle, and

~I

other terms are as defined previously.
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1]
EMAE—5% 6 ZFIERIARE RigiEi@ TR, HIEEDY v =80km/h, ¥ HHIYEE 4
ZEERING, FEIERIBITRESICN 1940 #i/h, MIEH BAPIZERIEN 4200 4 /h,
TEIE B H RIS R 22km /h, IXFERFSL T 1.69h, ARIEHEmMERIHE] 1956
5/, A TR RIS ZE R HE A BT RE ZE IS ],

i
HREHAKE
O TEREWIEITIAFIE IR A, HEEN k= & = 4250 = 534 /km
Q IR, HT Iz HAEEIT 1940%2=3880 #i/h, MFIEENTFEIEL 4200
Wi/h, RIS HBURET, HEEN k = 2 = 3880 — 1774 /km
Q RIBAEIRIRE vy = L= — B30 _ 2 58km/h . REALAHBLERE
HEBNA B a1, (53R 2.58km /h, TEREIEE 0 &34 7 1.60h HEHNE]
2.58km /h, HEEHGERN v, = (0 + 2.58)/2 = 1.29km/h, Ff CAALHERA K
JERN L=v, x t=1.29 x 1.60 = 2.18km

= =T = = =

PRRERY: B 5 68 /71



IVAZEAN ]

i (5

HRRHZER R Sgd XfE, HEBARIFaaTEER, ERESEZE e — N A, (At
RELZE I 1R R HERA T B A 1] 55 7 st 1) =2
O HERATHERIN R ¢ EFISEIEEZERE: g3<3880 #i/h, RIABITRE 1 &
R, HERAFFERIERL
ZERNZERRECH (g1 — go) x 1.69 = (4200 — 3880) x 1.69 = 541 #fi
ZERNTHEREE S M:93 — g2 = 1956 — 3880 = —1924 ##i/h
THEBA TS BN ] ¢ = (-9)x169 _ 541 _ ( ogp

lgz—q2| 1924

Q PHZERT(E] t= ¢ 4+ 1.69 = 1.97h
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